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Part -1 HT -1

General Studies & WA 31T T
General Knowledge of State TS Rl {HE AT
1.  Which crisis is more important for India 1. oduE § 9Rd % T ®F W dae s
at present ? ool § 7
(A) Trade deficit : (A) =AM EE
(B) Current A/c deficit (B) ] Wl <Rl HT
(C) Fiscal deficit (C) TSTRIHE e
(D) Foreign Exchange Rate of Rupee (D) ¥9I1 hI faceht fafma <
2.  Among the following which one is not a 2. FEFAARA EFED & 2?2
primary pollutant ?
(A) Nitric Oxide (A)
(B) Sulphur dioxide (B) » HFES
(C) Peroxyacyl nitrate ( Wﬁﬁ e
(D) Nitrogen dioxides IS SHSATES
3. Govind Vallabh Sagar Project is located =\ 7iifSe SEmy AR afEeT e ®
> AR — '
(A) Son river .4 O (A) GH TR

(B) Rihand river % (B) ffg i W
(C) Vyas river Q (C) =T W
(D) Mahi river \ (D) W& & W

4. Copper has two isotopes 63 and 65. If 4. «m=1(Copper)h 3 LR 63 AA65 2 |

average atomic mass of Copper is 63.6, g ST T T 63.6 B 1 ook THETHS
the percentage of lighter isotope is : Y g B ¢

(A) 30% (A) 30%

(B) 25% (B) 25%

(C) 70% (C) 70%

(D) 75% (D) 75%
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5.  Who can be removed from his office by 5.  FeIfER gRI fh¥ 9 | <N 5 Thatl § 2
impeachment ?
(i)  President () Tgufa
(if) Judges of Supreme Court (i) FaE e % = .
(iii) Judges of High Court (ili) S A F AR
(iv) Chief Election Commissioner (iv) T Tret=m s
(A @ (a) @
(B) (), (i) (B) (), (i)
(©) (), (), (i) (©) (@), (i), (i)
(D) ), Gi), (i), (1) (D) G, ) ), (@)

6. Foot and Mouth disease in animals is 6. SIMERI H e Bg HISY T HTHRIR :
cause by :
(A) Bacterium (A)
(B) Fungus (B)
(C) Protozoan ‘ C) o Eil|
(D) Virus @ BRI

7.  What percentage of revenue is receiv BTG T i @IS o Qied § foha Ffaerd
by Chhattisgarh State through TSTES i Wi Bt © 2

__ utilization.?._ . _ —

(A) Approx. 25% ¢ O (A) TR 25 Hfawrd
(B) Approx. 27% @ (B) w9 27 wfawa
(C) Approx. 30% Q (C) < 30 Sfeemd
(D) Approx. one t& (D) o T foerE

8.  What percentage of GDP is estimated as 8. 99 2018-19 % faIQ wRa & F=g ose d
fiscal deficit in Central Budget of India gHel e AR T fora gfowia TSR
for the year 2018-19 ? T A TRy e 72
(A) 3.2% (A) 3.2 wfas@
(B) 3.3% (B) 3.3 wfasa
(C) 3.5% ~» (C) 3.5 wfawd
(D) None of these (D) 6 A =g TRl
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9, Khasi tribes lives in : 9. @ st fram w €
(A) Khasi Hill (A) G & TEE W
(B) _Jayanti Hill (B) ST I TS W
(C) Both of (A) and (B) (C) (A) T (B) A W
(D) None of (A) and (B) (D) (A) TS (B) T T &
" 10. Choice scheme of this state is associated 10. 39 U9 H =AEE A fre H ¥ fred
with which of the following ? Geifra &7
(A) Computer education (A) HFAX Tarem
(B) E-governahce (B) T
(C) Seed exchange (@) EiEiied
(D) Crop rotation D) I
| \
11. Lakhwar dam is proposed to be  11. @ i1 foretor fope 7 TR e & 2
constructed on which river ?
(A) Ganga éA) i
(B) Yamuna ) . OQ (B) =g
(C) Krishna : % ©) W0
(D) Godavari ® (D) eEd
12. Which of the following is not associated 12 %W%Wﬁﬁﬂfﬂf@ﬁﬁﬁm
with the folk-theatre of this state ? e T T 7
(A) Rahas (A) =H
(B) Nacha (B) M=
(C) Jatra (C) S
(D) Mao-pata (D) TSI
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13. Which of the following is a HELINA ? 13. M= da®nR?

(A) Missile (A) frama
(B) Tank (B) =
(C) Satellite (C) ST
(D) Telescope (D) &

14. Who of the following of this state was 14. 39 % FrAfafaa ® 9 & @ iaer
himself a musician and patron of other & T 37 SRR o STIFRTT & ?
musicians ?

(A) Raja Ramchandra Singh (A) T T fHE

(B) Raja Devendra Pratap Singh (B) T e

(©) Raja Chakradhar Singh © foe

(D) Raja Naresh Chandra Singh - (D o= f4g
O

15. What is the rank of Chhattisgarh State 1 XE%J ﬁ'gﬂ IS gty 13 feoelt &
Electricity Production Company Limited TR 2017 % FTIR BTG T4
under state level in India till November forga 3eureA A TEifcd @ T WK W
2017 as per report of Central Electrifi TRAH FAMHA?

Production Authority New De]l@ B
(A) First O (A) e

(B) Second % B) feita
(C) Third ’& ©) T

(D) Fourth (D) =g

16. Convension of biodiversity came into 16. g fafaum =1 fagm yum o) RIVQER]

force on : T

(A) 29 Dec. 1993 (A) 29 femrat 1993 =t
(B) 6 June 1992 (B) 6 [ 1992 =l

(C) 3 Oct. 1994 (C) 3 RS 1994
(D) 4 Oct. 1993 (D) 4 3SR 1993 I
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17. Which of the following proposed the plan ~ 17. frefafaa § 9 fren WA & fawsE &

for the partition of India ? ST F&IA i ?
(A} Cripps Mission (&) e P

(B) Cabinet Mission (B) Hfere faeA

(C) Wavell Plan (C) A S

(D) Mountbatten Plan (D) WEeaH EISE

18. 'Which of the following is regarded as the ~ 18. 9 T Fi STIfEl IReifRe W % &9

super-natural power by the tribes of this ¥ frefafed § @ ford wiewr Fd €72
state ?
(A) Bada-dev (A) wEg-<d @
(B) Budha-dev (B) 1@—@
(C) Bonga-dev (C) » ST~
(D) Totem ( :
" O
19. What is the rank of Chhattisgarh State in STE T T TTesIEd & & ST IRA

India under forest covered area ? Q F RN HAC?
(A) Second N O A) e

(B) Third % (B) T
(C) Fourth \\'Q © =

(D) Fifth (D) Y=

20. Who of the following was the author of  20. ‘TR’ % SEe Frfated @ 9 s

‘ Ashtadhyayi’ ? q?

(A) Hemchandra (A) TR
(B) Nagarjuna (B) ARTSA
(C) Aswaghosha © STETEY
(D) Panini (D) ot
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21.

Which of the following tribe of this state
celebrates the ‘Sarhul’ festival ?

(A) Oraon

21.

22,

23.

(B) Baiga
(©) Bhaina
(D) Korwa

Who is elected for his full tenure ?

(i) President
(i) Vice President
(iii) Members of Lok Sabha

(ivy Members of State Legislative

Assembly
(4) @ \Q
(B) ™ @) (@) - O

©) (), @), (i)

(D) (@), (i), (iid), &

Which University of this state is named
after Atal Bihari Bajpai ?

(A) Durg University
(B) Surguja University
(©) Bastar University

(D) Bilaspur University

22.

23.

T 0 i frefatas § @ $Hs Seenta
‘wge’ v T 2

(A) Ud

(B) &M
(©
(D) &R

A o Ul s F g Faffea S
¥?

TIRTH T TG
T faumas &1 959

(a) @

(B () @)

©) (@) (@) (i)
(D) @), (), (i), {v)

W T & fww favafaemem o1 9W sea
farerd sTorEt & AW W @ TR ?

(A) T foeafamem

(B) EUe favaferame™
(C) &R fqwafqareE
(D) faamaR fovafaemad
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24, Match List - I with List - Il and select the ~ 24. et - I I Felt - 11 § FAfew 3% = el

correct answer using following codes : TS W WE W <@fad S
List =1 List - IT el - 1 11

(@) Zeolite (i) Purgative (@) ISRIGIET i S«

(b) Sodium (i) Dry cell (b) Wfeam (i) Yk 9
thio-sulphate RIS

(c) Magnesium (iii) Shape selective (9) Fafeem gthe (i) =EG CIEaE|
sulphate catalyst IATH

(d) Graphite (iv) Non-drying agent (d) UwES (v) WA H Al

in Soap

(e) Glycerine (v) Photography (e) RSERE] ( TR

Code : HhiT: &
@ ) (© (@ () “(a) &(C) (d) (o)
A ¢ @ @ O (A)e (V) NG @) @ &)
B (v @ @ ¢ ) (B Y@ o0 ) @
© @ v 6O @ ) v O @ @)
D) () @) @) @@ ©) @ @ @) @
25." Vodafone merged in which of&ZS.WWWWﬁ@WWW—ﬁ

following Telecom Company ? * FHYGNE?
(A) Airtel ' @ (A) TILHA

(B) Reliance Jio ,& @®) T foi

(C) Idea Cellular (C) omEfea JTgEr
(D) Tata Docomo (D) I Sl

26. What is the rank of India in GDP (US  26. afvesh srdfereeen § I o1 Thel ST 3T

Dollar terms) in world economy ? (eTAfERT SR’ #) T Hag?
(A) Seventh (A) GrEr

(B) Sixth (B) ®adr

(C) Fifth (C) =l

(D) None of these (D) ¥ W B el

SPACE FOR ROUGH WORK / T &Td & fod <img
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27. Which of the following Tennis playerisa  27. 11 ot et i e S ara < faerd
winner of 11% French Open Title ? fradasmRE?
(A) Domini Thiem (A) Emfie ofEm
(B) Rafael Nadal (B) T A
(C) Novak Djokovic (C) T Srenifore
(D) Andy Roddick (D) TS Ufesh
28. Which of the following department was 28, TS s 3 Fferaa H 9 fog faum =t
established by Lord Curzon ? T i ?
(A) Geological Survey of India (A) el &
(B) Archaeological Survey of India (B) A
(C) Meteorological Survey of India . © A e
(D) Statistical Survey of India * yrefra wifert T
29. Which of the following is the cold 29, frfofga & Q watfusw via a1 ¢
region ?
(A) Troposphere . OQ N (A) SRR
(B) Mesosphere @ (B) HHIEHIIX
(C) Stratosphere Q (C) wITHR
(D) Thermospher& (D) gHERER
30. Who amongst the following is Present 30. odHE ELS RS F I AIEE & q&A
Chief Justice of High Court of this state ? = fE H 4 A E 2
(A) Deepak Gupta (A) <9 e
(B) Navin Sinha (B) & famat
(C) Ajay Kumar Tripathi (C) = FHR FuEt
(D) T.B. Radhakrishnan (D) A& vaEwE
SPACE FOR ROUGH WORK / T% &M & &8 g
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31. Which of the following dynasty was 31, f¥ee™ g1 et  Frafafes § @ fow
founded by Bhillama at Devagiri ? Y T TS oAt 2
(A)_Yadava (A) 9I<a
(B) Hoyasala (B) TFUA
(C) Pallava (C) UTE
(D) Chera (D) =N
32. Aranyak Cave is related to : 32, RO TH K HAY T
(A) Karst topography (A) I WAH Y
(B) Gandadel Jhodi Nala (B) e WE AN |
(C) Dandakaranya (C) TUEHNY
(D) All of these (D)
33. Which of the following Sculptural art 33 3 9‘@ He 7 fiew wen Jeht
school is not associated with Buddhism ? Q geiferd TE 87
(A) Gandhara @ YR
(B) Mathura é (B) HgU
(C). Vallabhi ©) st
(D) Amravati B (D) ST
34, Personnel Administrati related to : 34, It FOE S €
(@) Recruitment of pers s (a) hIHHI I et |

() Training. and promotions of
personnels

(c) Service conditions of personnels
(d) Transfer of personnels

(a) @

(B) (a), ()

© (@ ®)

(D) (@), (®) () ()

(b) ! & wferor o TR 9

(c) et i dan W q
(d) IR o TR |
Aa) @

(B (@) (0

© (@), ®) ©

(D) (), (b), (c), (d)
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35. Who of the following Kalchuri King of ~ 35. 36 Ud & frefafed § 9 fhe swegR TS
this state visited the Mughal court ? J TSl SN T e & o ?

(A} Kalyansai (A —=hoaroreig -
(B) Baharsai (B) e

(C) Pratapmalla (C) gdHTA

(D) Laxmansai (D) <&HIHEE

36. Who of the following Maratha ‘Subedar’  36. f=fafEd H3T gorer' 7 39 U
introduced the pargana system in this b (4 i ?
state ?

(A) Mahipat Rao ’%&@m =
(B) Keshav Govind O%) ENERIIE
(C) Bikaji Gopal (C) =fenrsit TiraTe
(D). Vithal Rao Dinkar — OQ (D) faegenE. feqet
.

37. Which industry ha reft grantsinaid ~ 37. IAWIGH ' RE-9 AT F A=A R
in permanent capitalNiivestment under 3T H TRl fj:?ﬁ BENEREEEER G 2?2
“Start-up Yojana” in Chhattisgarh f
State ?

(A) Minor and Small Industry (A) §&H T oY &M
(B) Medium Industry (B) HEIH &M
(C) Large Industry (C) =3
(D) Mega Industry (D) =
SPACE FOR ROUGH WORK / T& &1d & faa sg
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38. What is meaning of Panchayat as defined 38. 39 T &I o TS eifufttad, 1993 *

by Panchayati Raj Act, 1993 of this STER T 1 3 T 2
state ?

(i) Gram Panchayat ' @) pIEREIRN

(i) Janpad Panchayat (i) SFYE qEEd

(i) Zila Panchayat (i) TSren dEEE

(iv) Nagar Panchayat (iv) R G

A) 6 A) 6

® () @) ®) () @)

© (i) Gi), (i) | © G (), g
O @) (), (i), (v) ) G,

L 4

\ ¢
39. is found at Maikal range. 39. goft # foera € -
(A) Sal forest é ) W& % °h

(B) Teak forest \Q (B) ETH % o |

(C) Bija forest ¢ (C) S E e

(D) Bamboo forest @ (D) «H %

40. According to Census 2011, highest rate ~ 40. SO ¥ 2011 % FIER UG F

of ferhale literacy in Chhattisgarh is in Haifess i WeRdl &5 o
~ district. T

(A) Balod (A) R

(B) Durg ® 3

(C) Dhamtari (C) wwad

(D) " Raipur (D) WL

" SPACE FOR'ROUGH WORK / T® & & fd s
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41.

42.

43.

44,

labour movement occurred at the B.IN.C.
Mill of Rajnandgaon in this state ?

(A) 1920 |

(B) 1924

(C) 1930

(D) 1940

performed by the young women of

Wh1ch of the following folk-dance ;s ;Q

"state on the eve of Diwali ?

(A) Sua

(By Karma %
(C) Panthi Q
(D) Rai \

What share of state in subsidy is provided
to small and marginal farmers for
sprinkler under minor irrigation in
Chhattisgarh State ?

(A) 70%

(B) 50%

C 33%

(D) 37%

Which sector has highest contribution  41. a9 2017-18 H STIETE & Hehel We] IR

estimated in state Gross Domestic Product T fee g w form & 1 AN T 3Afres

of Chhattisgarh at constant prices in the Wﬁ'ﬂ R T 2
‘———3kﬁftm11489

(A) Primary sector () e &=

(B) Secondary sector (B) Tfaftusw &=

(C) Tertiary sector (C) qdrF® &

(D) " Industry sector (D)~ Sgm &=

In which of the following year the third 42, frefafea @ feg od 5 W & Temicia

w1 ST, oot % Aegl & g e
Bon? |
(A)

B
. (cp%o

44.

’ 1940

79 o9 1 a1 Afeensil g Srumaett % g
frefafaa § 9 S g (6 ar § 2

(A) gem
(B) T
(C) ddt
(D) W

TiTeTe 159 § qee e Ao & srfa
fesferert o oy oreM B oy ud diHia e
1 T 1 opan Au fen ST @R ?

70 Tfaerd
50 gfaer
33 gfaer
37 gfaema

(A)
(B)
©)
(D)

SPACE FOR ROUGH WORK / T &t & fod g
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45, Kaveri water dispute is between : 45. A o e ©
& (A) Tamilnadu, Karnataka, Kerala (A) TS, Fleh, W ¥ HeH
(B} Tamilady, Kerala (B) _aferTg 9 3 % 79
(C) Maharashtra, Karnataka, Kerala (C) WY, Euice %ﬁ‘{ﬁﬁ rrw
(D) All of these IRjE aHt .
46. What is correct about the Constitution of 46. 51'513:?!? FIHR F 'Ffl%f%'rﬁ a* ﬁm 'ﬁ 'FIE"]' 2]
" Jammu and Kashmir ? g?
(i) Itwasformed by Indian Constituent (i) T K Hfaue Bkl %ITSFIPJT !
Assembly _ v
(i) It was formed by Constituent (ii) T S S ﬁvﬁmam q
Assembly of ] & K R ‘ -
(i) It was implemented on 26.1.1957 (iif) g@ 26 @ ] fa T
(iv) It was implemented on 26.1.1950 (1v 5.141950 = R feRam TRIT I
(v)  Article 370 of Indian Constitution qﬁraﬁm 31T 370 Eﬂﬁaﬁ‘{
is related to ] & K '@I et ¥
(vi) .Article 370 is legal provisions for . 370 '\?l'u-l&fﬁ HIHR F faw S
J &K A § |
~ (vii) Article 370 is tempora:Q (vn) 37, 370 aqaﬂxmésﬁmmﬁr
| transitional and special prgvis@ e @i fae wEeE €
for] & K
(A) ), (), @), (vi) @ () ), (i), (@), ()
B) (i), (v), (vi), (vii) ’\\Q (B) (i), (iv), (vi), (vii)
© @, @), (vi), (vi) ©) @, @), (vi), (vii)
(D) (i), (i), (v), (vi) (D) (), (i), (v), (vii)
47. TFor which field Thakur Pyare Lal Singh 47. U9 R0 H I e fHg R
award is given in Rajya Alankaran ? forg @ & for e ST €2
(A) Social awareness (A) [T Al ’
(B) Co-operatives (B) RLCAIG]]
(C) Folk-arts (C) arshehell
(D) Agriculture (D)

SPACE FOR ROUGH WORK / T &t & ol <178
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~48. Which of the following tribe of this state 48. U U9 it fafafaa # @ EEIBSES I
is not included in the list of the most i fredt st =t gt § wftafea 58
backward tribes ? 7?2 1

'b (A) Kamar (A) FHAR
(B) Birhor ®) faEr
(C) Hill Korwa (C) URIE &IEn
(D) Bhatra (D) T
49.  Where the total population of SC and ST  49. Eid} H FA TGS 50% W
is less than 50%, how many seats of 51 ° SFYE Y=g & S7eae i
President of Janpad Panchayats within . s1fe & foag sTRfara w1 st ?
the district shall be reserved for OBC ? Q\ M
(A) 1/3-33% O (A) 1/3-33%
(B) 1/4-25% (B) 1/4-25%
© 1/5-20% O: ©) 1/5 - 20%
(D) None of the @ (D) SR HA H1E Tl
50. Who of the following was the pioneer of 50. oMY WRA H WitHas QIR & 3T
cultural renaissance in Modern India ? frefafea # 4 o0 92
(A) Swami Dayanand Saraswati (A) @ IFE TR
(B) Swami Vivekananda (B) @t faaehrg
(©) Raja Rammohan Roy (C) T ToHRT W
(D) Ishwar Chandra Vidyasagar (D) ¥R 9= forRmarR
SPACE FOR ROUGH WORK / T® &/ & a9 g
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Part - I1 " -1

General Knowledge of Computer HEET hl AT SIECOEl

51. A is a computer attached to ~ 51. 20 9§ T Hrg Sl TR
the internet that runs a special web server J9 T ARAR B W HE T A TW
software and can send web pages out to FI H o I o B |
other computers over the Internet.
(A) Web client (A) o9 FES
(B) Web server (B) dF Fel
(C) Web system (C) <= faeH
(D) Web page (D) a9 kR

© 52.  Which of ythé‘ following is an open source  52. e 1 g @"F{ |ig s faweu
- Operating System Software ?

(A) Ubuntu
(B) Fedora @ﬁ’@'ﬂ
(C) Solus
(D) All of these (D) S at

53. ADaisyWTleel Printerisatypgof& T S <ol e U YRR R -2
(A) Matrix Printer @ (A) Hfewm fiiX
(B) Inkjet Printer ® (B) Ihwe X
(C) Laser Printer (C) &R X
(D) Impact Printer D) T i

54. Input and output devices are connected 54. TI9< T erseye feamy wTHe q
to the computer through the ¥ e ¥ R N )
(A) CPU ' (A) ®d@g
(B) RAM (B) W™
(C) Keyboard () H-ar
(D) Ports (D) 9reH

SPACE FOR ROUGH WORK / % & & fo&l 3@

1280/ NE-JT/RCE-M
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55. What term is commonly used to describe ~ 55. * W@ T o S T 3o qiom § 951
the shuffling of position in search engine I FUE H AU SR & R
results in between major updates ? B IRIEAC P
(A) Waves (A) Waves
(B) Flux (B) Flux
(C) Shuffling (C) Shuffling
(D) Swaying - (D) Swaying

56. Which of the following storage media ~ 56. f= %9 HA ¥ WS difewm, Feaa
provides sequential access only ? fasafaae T YeH & 82
(A) Floppy Disk (A) AR |
(B) Magnetic Disk (B) ,,

(C) Magnetic Tape (©) @?x
(D) Optical Disk Y fewn

57. The shortcut keys to hide a row of an 3iie & T U (row) TIH & o
excel sheet is : Y& 1 (key) T : '
(A) Curl+2 \Q (A) Cul+2
(B) Ctrl+9 . O (B) Ctrl+9
(C) Ctrl+F2 ' % (C©) Ctrl+F2
(D) Shift+F9 ® (D) Shift+F9

58. What kind of attempts is made by  58. el =afsr &% wg=m @i TG W, et

individuals to obtain .confidential =i st MU I, e he o9 YRR
information from a person by falsifying AR DICE ¥ |

their identity ?

(A) Computer virus (A) X <'=|T€I'{H

(B) Spyware scams (B) TEAR @A

(C) Phishing scams © fnfyi e

(D) None of above (D) IR | | FIE &l

SPACE FOR ROUGH WORK / T% &M & fed swrg
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'59:  Which computer memory is used for  59. iy, % g HETe (o) fRa = ®
storing -programs and data «currently oo T 1 H Tfed FA F a3 =9 9@
being processed by CPU 7 TR AHR 13U T s €72
(A) Mass memory (A) HH T
(B) Internal memory (B) I ‘ﬁﬁfﬁ
(C) PROM (C) 9™

(D) FF-acrerse HEk

(D) N on-volatile memory

60. Whlch of the following is nota proprletary 60. T QW E ARESd (ferR) s
Operating System Software ? T TR A
(A) Mac OSX (A) - B

(B) Haiku (B) @

(C) Windows TK e
(D) MS-DOS % TH.TH. -

. lisa software progra@.
used to view web pages. Q

61. A 3y e 1 % e TR
= T ST ST B
(A) site 4 (A) WS
(B) -host @ (B) B
(C) link ,& (C) fd=
(D) browser (D) wE=W
62. It vf‘)“ro’du({:'e:s thebest QUalit;i}.'graphic 62. IE TR = '{[Ul'él'ﬂT %+ TR EETUT ‘E"*T
printing : FIATE
(A) Laser Printer (A) TSR YR
(B) Inkjet Printer (B) FF9e X
(C) Dot Matrix Printer. (€ =E nfeem T4
(D) Plotter | (D) X
SPACE FOR ROUGH WORK / T% @™ % T s7e
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63. The process of copying filestoa CD-ROM ~ 63. CD-ROM H ®TEal Sl T4 i IiHal
is known as : B - 1 i
(A) Burning (A) Burning
(B) Zipping (B) Zipping
(©) Digitizing (C) Digitizing
(D) Ripping (D) Ripping

64. Which among the following is odd ? 64. FTAH T AT HIAT?
(A) CD/DVD (A) CD/DV
(B) Floppy Disk (B) Flo i
(C) SD Disk ©)
(D) BIOS &NOS

65. Which of the following search engine is SO?ﬁT-T W god wfag ¥« g5 F | 9 -
most popular in China ? g7

— " (A)y "Yahoo — R OQ (A I’

(B) Bing @ (B) o
(©) Google Q (C) T
(D) Baidu \ (D) |

66. Who invented ‘Analytical Engine’ ? 66. ‘wfafeswhe g5’ o snfaeRr foraa foman ?
(A) Blaise Pascal (A) IS qEw
(B) George Bool (B) ISt et
(C) Charles Babbage (C) =eH o
(D) Herman Hollerith (D) &HA By

SPACE FOR ROUGH WORK / % & & o s
Set - A 1280/NE-JT/RCE-M




67. The shortcut key for spell check in  67.

MS-Word document is :

e, o< TR i Sife e ¥ Wk
1 (key) © :

(A) F7 (A) F7
(B) F8 (B) F8 )
(©) F3 ) F3
(D) F4 (D) F4
68. What are the four things needed to 68. 1 =R TS gete ¥ S % T e
connect to the Internet ? g?
(A) A telephone line, Modem, (A) A hone line, Modem,

Computer and an ISP
(B) Modem, Computer, PDA and ISP

(@) Telephone line, Modem, Computer
and PDA

(D) —Computer, ISP,. Modem@
telephone line and Commu n

Na

69. Which of the following is a type of  69.

monitor port ?

(A) VGA

(B) Display port
(C) DVI

(D) All of these

Q

o ter and an ISP
L 4
Yodem, Computer, PDA and ISP

Telephone line, Modem, Computer
and PDA

(D) Computer, ISP, Modem with

telephone line and Communication
software

e B ¥ -9 T GFR H G 9 82

(A) =SiE

@) ek o (fewa urd)
(C) .

(D) T wft

SPACE FOR ROUGH WORK / T& &md & ford wme
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70. THRE W F T R HeW (W) F T

70. The shortcut to select entire column of an
Excel Sheet is : FH TG TS WEHS ¥ ¢ -
(A) Cul+A (A) Ctrl+A
(B} Ctrl+F10 , — (B Ctal+F10-
(C) Shift +Spacebar (C) Shift+ Spacebar
(D) Ctrl+Spacebar (D) Ctrl+ Spdcebar
71. It is a Unix like free operating system 71. 98 Y ST g0 SR o |eeRr
software : %
(A) True OS (A) glTE
(B) Linux Mint (B) Termaw
(C) Chrome OS (O
(D) None of these D) % el
\ o
72.  Which of the following is a technique to 7 Yoh SHS %! A X @1 38s oM
blend two or more images to form a new Tl e | ﬁ 1 W?ﬁ %7
image ?
(A) Modeling __(A) _Modeling
(8) Morphing ¢ (B) Morphing
(C)‘ Animating % (C) Animating
(D) Warping )& (D) Warping
73.  Which of the following device has fasteé‘tv 73. ™= f@ﬁﬂ'&'@{ T Q frgs gad 3w T E[%TI
access time ? 7?7
- (A) Semiconductor memories (A) Gy AH™
(B) - Compact disks (B) wHHwR fewr
(C) Magnetic disks (C) Trhr fewh (Amifew fowh)
(D)  Magnetic tapes (D) e 29 (fafes T)
SPACE FOR ROUGH WORK / 1% &1d & fod smig
Set - A f 1280/ NE-JT/RCE-M
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74. A high quality CAD system uses the  74. <=7 TUrEE aell 6 (CAD) foeed g 3ix

following device for printing drawing mwfiesg _ feoma =1 ITM
and graphs _ . feran ST B |

(A) Dot Matrix Printer _ (A) TR Tz fie

(B) Line Printer | (B) @A i _

(C) Plotter “ (C) @R |

(D) Daisy Wheel Printer (D) TS = 4

75. Chief component of first generation  75. T Uil o HPGIL Hl J&A Weh o

computer was : - aqnl
(A) Transistor (A) FAISIsal oy e
(B) Vaccum Tubes and Valves (B) EIE]

(C) Integrated Circuits.

©
(D) VLSI &éq@q&rwﬁ

76. Web Crawler is also calléd as e wleR & o e S §
(A) Link directory \Q (A) Toe srEd '
(B) Search optimizer ”;L; ‘_O (B) §H AR
(C) Web spider @ (C) &« TEET
(D) Web manager ® | (D) EER-ES
77. A V';deo consists of a sequence of . 77. W fafea ¥ ARA ¥ o Bl
(A) Frames (A) wH |
(B) Signals | ) (B) fa=
(C) Packets (C) TFe
(D) Slots (D) wite

SPACE FOR ROUGH WORK / T% &1 & fodt
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78. Which of the following is harmful for ~ 78. T/ ¥ § ¥ ®reger & folw JhuFRa® § ?

computer ?

(A) antivirus (A) TRIERRE
(B) wirus (B) 9H

(C) freeware , (C) WK
(D) shareware (D) IFER

79. What is the self replicating program  79. w4 FMY?
called?
(A) Keylogger (A) @ "
) >

(B) Cracker “ @#ﬁ'{
Q57
(D) €W

(C) Worm
(D) Spam
O
80. Joint Photographic Expe JPEG)  80. ]omt Pﬂotographic Experts Group (JPEG)
is used to compress : ' ! dia F F faw swEm
| AL
(A) Music (A) S
(B) Pictures (B) TR
(C) Images (C) AN
(D) Frames (D) ®H

SPACE FOR ROUGH WORK / T® & & o -ig
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Part - III -
General Mental Aptitude

oI - [T
T s argdr

81. Find the odd one out :

(A) USAGE

(B)
(C) ULTRA

UNITE

(D) URINE

82. Select a suitable figure from the answer
figure that would replace the question

mark (?).

Question Figure :

fe=T o T L
(A)
(B)
©
(D)

81.
USAGE
UNITE
ULTRA
URINE

g S gy
{ |

EL IS ERCRED
fag (?) =

O

‘e

82.

LSl

AAal | FEAO
Answer Figure : —0 O s
©|© oloo
1) @) 3) ) 1) @) 3) (4)
(a) (1) (A) (1)
B @ (B) (@)
<© O © ()
(D) ) (D) (4)
SPACE FOR ROUGH WORK / T& &4 & fod s
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83. Find: the number of squares in the 83. frfafag o3 4 ol =t dem 31d sifee ;.
following figure :.
| : N\ . L
}?\ 7
(A) 5 (A) 5
(B) 4 (B) 4
© 6 ©) 6
(D) None of these (D) =79 9 =S &l
84. B and E are good in Mathematics and  84. 4f< B ik sfoee # o= ¥,
History, A and B are good in History and A iR ofifqent o= € A, D
Physics, A, D and C are good in Physics . AR H = E1'C sl A
and Chemistry, C and A are good in iR weepet fagm # o9 €, D 9IRE
Physics and Computer Science, D and E % AR nfog # o= € 91 ®E Hifaewt,
are good in Chemistry and Mathematics. O 3R sfoee ¥ st=m1 72
s ¥ ' t
Who is good in Physics, Mathematics
History ? Q
(A A . O (A) A =l
(B B ®\ (B) B
(C) D \Q © D
(D) E \ (D) E ]
85. Find the odd one out : 85. T =g =L :
(A) 18-72 (A) 18-72
(B) 36-119 (B) 36-119
(C) 99-63 (C) 99-63
(D) 45-108 (D) 45-108

SPACE FOR ROUGH WORK / T® &Td & ol w1g
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86. Which of the following diagrams  86. Srefefag & QS o fas 9E, W, 3

represents relationship between Ocean,

Ship, and Sailor ?

ifee ¥ We WE goly H e

(D) ~

(A) @
o OF

87. Find the number which will replace the '{T@IT 1 S s W fﬂ'&' GE
e et A | |

question mark (?).

= | O | @

= | G| &

()
(B)
©
(D)

4|3 8643
? |5 @ 6 | 5|2 |5
65® 46| 6|5
6 | 8 3 | 4|6 |8
(a) 3
(B) 4
(C) 5
(D) 6

SPACE FOR ROUGH WORK / T @t & fodt g

1280/NE-JT/RCE-M 27

Set - A




88. Find the next term. 88. TSN UG AR |
1, 2, 5, 26, 1, 2, 5, 26,
(A) 78 (A) 78
By—173 (B) 173 R
©) 677 (C) 677
(D) 65 (D) 65
89. If‘A means’3 times’, ‘[1’means ‘4 times’, 89. afg’‘a =1 o1ef '3 A1, ‘0 w1 i #
and ‘()" means ‘5 times’, then find the ‘4 '{Fﬂ', qgr‘ ) 1 31k ®'5 Tﬂ', Tl x Rl HH
value of x, where x + Ax + Jx— Ox =120 I HIC, S&T x+ Ax+ Ox — Ox =120
(A) 60 (A) 60
(B) 50 (B) 50 ®
© 2 (q&
D) 6 + (D)
\ *
90. Which will be the next figure from the @%? ot § & & for= avren gem ?
answer figure ?
Question Figure : Ty fas
L =2 T || S L =] F ‘ | ?
Answer Figure : Q e :
Jild]|||le|||F S||l=s|||le|||F
1) @ 6 @ 1) @ 6 @
A @ @) @
B) (@ B
© ©) © G
D) @) Oy @
SPACE FOR ROUGH WORK / 1% &Td & & sig
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91.

92.

93

Find the next term. R 91. ST IS T FL |

2, 5,11, 21, 36, T 2, 5,11, 21, 36,

(A) 40 D (A) 40 — —
(B) 52 (B) 52

© 57 © 57

(D) None of the above S (D) Wi § § o &

If “wall” is called “door”, ”do@r’ ’v‘ilsk called 92, 3fg ”Wall”®ioor”, “door” Eq]
W

“window”, “window” is called ”ﬂoor”, “window”, “9g ” @l “floor”, “floor”
“floor” is called “ventilator” “ventilator” F “ventil ventilator” T “roof” 3T
is called “roof” and “roof” is called “wall” “roof” @a 17 T < o, Afaa el g
then what will a person stand on ? ?ﬁ\ *
(A) Window indow
(B) Wall e B (B) Wall
© Foor ~~—(€)—Floor

.

(D) Ventilator : @ (D) Ventilator

If GO=32, SHE=49, then HOME= ? 93 4ff GO=32, SHE=49, T HOME = ?
(A) 41 (A) 41

(B) 67 (B) 67

(C) 68 : (C) 68

(D) None of the above (D) WK H | HIE Tl

SPACE FOR ROUGH WORK / % &1d & & smie
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94, "-fi Identlfythe figtire that completes the ~ 94. 9% fod I Tg=If1T S WEW &1 Q01 &La1 & |
- pattern..

" -5 1
. "A)iﬂ' | o
B
e@ &

yfqeenfag =iar & |

R questxon mark (?).

95 Flﬁd the number which w; %Q % §EA I S S gearas fog (?)

11] 1|1 1] 1|1
e | 2 '15.' 30 | 2 |15

6, 1-4.] 3 6 | 4|3

Cayasi o (A) 15

@ 40 - (B) 40

s e © 20
-,;;"'i""‘(DL) none of these (D) ¥ ¥ =g

SPACE FOR ROUGH WORK / T *1E & fag g
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96. Identify the figure that completes the 96. o= =1 wg= < wEw qof FHIT R |

pattern.
L= =/
? 4 ? d
Jra A
*
> 2
TN 2N S M
©) ’ ’\& ©) )
(B) > " (D) ’
SPACE FOR ROUGH WORK / 7% & & f&d smie
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97. Find the next letter of the series. 97. 91'@'@1 w1 ST &R 1 HifST
A/B,CE G K, A, B,CEGK,
(&) M (4) M
(B) N ) B N
© o . . © O
(D) P (D) P
98. If‘a ADb' means f%kl;and'a&b"meaxxs 98. afc‘a Ab @ 3ef R 'azb',a%n'a N b’
'a+b' 'a+b,
= - then (16 A 8) + (12 N 3)= aef ¥ 16 A 8)+ (12 N 3) =
(A) 6 (A)
(B) 2 \Q )
€ 4 % 4

(D) none of these

O
&

99. Find the number of parallel6 @1 the  99.
following figure : é _
(A) 2
(B) 4
© 5

(D) None of these

(D) T ¥ FE T

Pttt for & TAFRR SIS % wen
[ RIS

¢E3

(A4) 2

(B) 4
C) 5

(D) 79 | $Ig &l

SPACE FOR ROUGH WORK / 1% &rd & Tl s
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100. If rectangle represents Players, the circle
represents Actors, and triangle represents
Indians, then which region represents
Indian Actors who are not Players ?

(A) a
(B) ¢
© d
(D) e

101. Which will be the next figure from the

answer figure ?

Question Figure :

100. afE 3 faers, qa sfvra ik fryw
TR 1 ST & 0 P T & IR S
i et & & 1 gt &2

101.

Y | [»
— —hem kAR Vi NN | o
Answer Figure : .
N N— N \ N
A\ wl . . 77
) @ @ @ m @ 6 @
(A) (@) (A) (1)
(B) (2 ® @
< © © ©
(D) @) _ D) @
SPACE FOR ROUGH WORK / % & % fol W
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102. Find maximum number of triangles that  102. Ufe W @it § 99 9 9 eafw

can be formed from five straight lines. st &6t den 9 =i

(A) 10 (A) 10

(B) 6 (B) 6 )
€ 3 © 3

(D) Not possible (D) TWa-E ¥

103. If “+’ means ‘+’, ‘X’ means ‘-7, 103. ﬂfa’—:ﬂm S %’+’,’><"°hT aref %’—",
I+I

‘+’ means ‘' X, and ‘' —" means “+’, then A/, qdM — HF A g+, 79
L 20-5+4x6+2= 200 6+2=
(A) 195 T e Qy 19.5

€ 12 C) 12
o 2 \Q T o 22
O
104. Find the missi m¥% the series. 104. S@en H g IS J0A FHSC |
KMF, IPH, G:I;KEVN, oMl KMF, IPH, GSK, EVN,
(A) BXQ (A) BXQ
(B) BYQ (B) BYQ
© <YQ © <YQ
(D) CZQ (D) CzQ

SPACE FOR ROUGH WORK / T% &4 & ford s
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105. Find the ﬁijssihg te'fm Gilihe Sk

AC, DG, HJ, KN, OQ,

105, ﬁa‘c‘ﬂﬁ‘@q q-q' el Eﬂﬁaﬂﬁm

AC, DG, HJ, KN, 0Q,

 (A) RV —(A)y—RV
(B) RU (B) RU
€ VX (€ VX
(D) ST (D) ST

106. If MILITARY is written as 1232456 then

how is TIMLE written ?
(A) 23142
(B) 42157
(C) 42132

‘*#(D)*S@Sl@l# .

107. Find the odd oneout :
(A) Frog
(B) Newt
(C) Salamander

(D) Snake

106. I MILITARY EWI230456 foran sman € &t
TIMLE ! T ST ?
¢
(A)§2‘
Qo
) 42132

O e
O (D) 34516
&
S

107. = = 9 * -
(A) Hem
(B) et
(©) Hemre

SPACE FOR ROUGH WORK / T % % Tt ST
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108. Find the number which will replace the
question mark (?) .

14 2

-~

13

(A) 9

(B) 11

(C) 13

(D) 15

108. I HEA JMA FHIC S Fear=h o (2)

109.” Find the wrong term in the
.

series.

7 60, 207, 496,,@

S

Toreenfud =i |
4 | 18| 3
14 | 2 ?
7 5 | 13
A 9

mber- —109. < TE-GEAT Jult- H- e X J@ B

7, 60, 207, 496, 984

(A) 60 (A) 60
(B) 207 (B) 207
(C) 496 (C) 496
(D) 984 (D) 984
SPACE FOR ROUGH WORK / 1% @14 & fe& sme
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110. Select a suitable figure from the answer 110. SR 9T @ Tk SugH W'ﬁ’ﬁl@ S e o

figure that would complete the question I gl |
figure.
Question Figure : g for :

AIAT
]| |—
VANAE:

Answer Figure :

e

@) @ (1) @ © @
(a) @ (A (1)
® @ B (2
© 0 ©) )
D) & (D) ()
SPACE FOR ROUGH WORK / 1% & & o stie
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- Part-IV.

H - IV

General Mathematlcs g iUt
111. The sum of opposue angles of a cyclic . E T Eﬁqjﬁf—ﬁ—ﬁqﬁﬁ—w-‘ﬁ? R
quadnlateral is . TR :
(A) 145° (A) 145°
(B) 120° (B) 120°
(C) 180° (C) 180°
D) 90° (D) 90°
112, A man rows his boat downstream upto . U of fedt a8t ° R % WY 4 53 H
18 km in 4 hours and comes back in 18 W ¥ 3iR 10 9 § 9y A
10 hours. | K]
Study the followmg statements ; WigER &S :
(I The speed of the man upstream is o g1 % fawta safw &7 El
18 km/hr, . . ¢ 18 fwdl/sE R
(‘I‘I)k The speed of the man m.stﬂl wate Q (II) 3%’1 BT Rkl ﬁ °¢i|°rd EF'T =Tl
' is 315 km/hr. e 0 ’ 315W/W%| .
(111) The .. speed of the str@s (g amaﬁ%nmss %rﬁ/*ara %|
1.35 km/hr o |
Wthh of the followmg %'- Fhts are 77@'ﬁaﬁfﬁfﬁfaﬁﬁiﬁm;ﬂﬁ%?f'"""' -
true ?
(A) Only (I) agd A e. (A) e (1) R 1)
(B) Only (I) NI are true. (B) et (L) ae (III) 91 ¥
(C) Only (I an&ﬂ) are true. (©) et (1) 7 () O ¥
(D) All of (I), (IT), (I) ate true. (D) (1), (1), () it = § 1. -
113. What is the tnit digit of number  113. FEI 625425 1 T 3ich A TN 2
6256 — 4256 7 -
a) 7 (A) 7
(B) 0 (B) 0
© 1 © 1
(D) 4 (D) 4
T ' SPACE FOR ROUGH WORK /. T 4 % fed e
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114. O is the centre of a circle (see fig.). If 114. I HF O FE R AR LAOB =80° R

ZAOB =80° then /ACB =? W LACB =?
C 4 : C
N O 4 B
© 0
30 B LN
Av A R i
(A) . 40° , (A) 40°
(B) 160° : (B) 160° sy gt RT
(C) 120° (© 120°
(D) 100° (D) 100° O ‘
| .. O
115. Thespeedofa train withdut any stoppage 115. & 3 EI‘-T“T TR IWE 1T 45 fereit/
is 45 km/hr and with stoppage is I & WY IS =1 36 VA
36 km/hr. If that train travels for 7 hours, S Yo 7 S Y A el ® A
then time spent in stoppages will be : o e g '5513'1?[3311 7=
(A) 1hr12minutes Q (A) 1vrfEE -
" (B) 48 minutes . O (B) 48 fir .

(C) 1 hr 24 minutes % (C) 1424 e
(D) 1 hr 48 minutes ’& (D) 1748 firfe

116. A rectangular container is of size 116. U SEAEHR S T 719 12 .1, x 8 A,

12cm><8cm><4cm.Howmanyicecubes x 49,7, 1 WWﬁZﬁﬁT HW%ﬁlﬁ'}l
of side 2-.cm each can be placed in this TE ¥ T @ T gHA L ? ;
container ?

(A) 48 (A) 48

(B) 54 (B) 54

(C) 8 < 8-

(D) 65 (D) 65

v

SPACE FOR ROUGH WORK / W& &t & for e
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117.

V‘What. is the ratio of area of a square to 117. 117=F<‘=|"'f ¥ A% 3R 39 fawe W s T
the area of another square drawn on its % e T ST foRa B ?
diagonal ?
(A) 2:3 (A) 2:3
B) 1:2 (B) 1:2
€ 1:3 <€ 1:3
(D) 1:4 D) 1:4
‘118. Theé radiusof a sphere is increased by 50%. 118. MG =+ e 4 50% A gfe A
The increase in surface area of the sphere Yt &he B R fowa =6
?

119.

will be :

(A) 100%

(B) 125%

(C) 150%

(D) 200% : . OQ

The ratio of sp reecarsis3:4:5

.respectively. The Yatio of time taken by

each 'of them in.covering the same
distance will be :

(A) 12:15:20
(B) 3:4:5
(€ 5:4:3

(D) 20:15:12

L 4

>

*A) 100%
(B) 125%
©) 150%

(D) "200%

119. T FR Y el 1 TTIE FAM: 3:4:5T 1

% 5N T9H g 79 w1 ¥ fau W '
ST 3T &1

(A) 12:15:20
(B) 3:4:5
(© 5:4:3

(D) 20:15:12

SPACE FOR ROUGH WORK / T% &4 & fod s
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'120. What will be compound interestonasum 120, T 2800 & '{ﬂ%ﬁ ‘?R 2 36t A 129 =ififs
of ¥ 2800 for 2 years compounded at =TS 1 T Q =hgfE A T e ?
12% rate of interest ? P

(A) T 687.18 (A) T687.18
(B) T 634.46 (B) T 63446
© T 71232 © 71232
(D) T 568.68 ' (D) % 56868

121. The price of sugar is increased by 30%. i  121. =
the expenditure increases by only 10%,
by what percentage is the consumption
reduced ?

(A) 14.29%

(B) 15.38% (B) 15.38%

(©) 13.68% 60 (© 13.68% o

L 4

(D) 16.54% 2 (D) 16.54%.

" 122, ‘The average of four cx!cutlve odd 122. IR AR ﬁﬁm Heel #1 siad 40 % o

numbers is 40. Then the largest number R 9 HEm w @ a2
will be :

(A) 42 » : (A) 42 

(B) 45 ' (B) 45

€ 43 € 43

(D) 44 | (D) 44

SPACE FOR ROUGH WORK / 1% wE & ford s
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123. The dlagonal of a square field is  123. T SRR @ % fawl @t e 110 Hie

’110 meters. Its area will be : T 3T Sa B
'(A) 6050 m? (A) 605042

(B) 12100 m? (B) 12100 #i.2

(C) 6000 m? | (C) 6000 .2

(D) 1200 m? (D) 1200 #i.2

124. The ratio of areas of two squares is 9 : 1, 124. % Q T hl C'HTTIT'I 9:1% @ Sﬂéﬁ

)

G NE» 901
® 5:4 Ogﬁ) 2
© 3:1 :

60 D) 1:3 =y

(D) 1:3 N

125. If3P= 2Qand2QX'thenP Q:Rwill 125. 9fg 3P=2Q A1 2Q=3R, q P, Q,Rao-r

" then the ratio of their perimeter will be :

ibe: - ST A ?
(A) 6:9:1 (A) 6:9:1
(B) 2:3:2 (B) 2:3:2
(C) 4:6:9 (C) 4:6:9
(D) 4:6:1 (D) 4:6:1

SPACE FOR ROUGH WORK / T® &d & fo@ se
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126. A cube of 384 cm? surface area is melt to 126. TH 384 EITf ﬁtﬁ g3 Q’ﬂ"%‘c’f 'él'lﬁ o) 35‘[

make x number of small cubes each of TR x §& | EX3 B T o & EFT

96 m? surface area. The value of x is : YS9 &% 96 1 . §, EFﬂ?} ’\ﬁﬁ %’l ??f x
SR B

(A) 80,000 (A) 80,000

(B) 8 (B) 8

(C) 8,000 (©) 8,000

(D) - 800 (D) 800

- 3 4 3 :
127. 3 part of marked price of a commodity

5
is equal to ¢ part of selling price. Then

the rebate percent will be :

(A) 12.5% ) 12.5%
(B) 10% (B) 10%
© 15% (C) 15%

@ (D) 11.11%
N\

128. Whatis the largest four digit number, that 128. IR 3 &l 98 HF- Fﬁ Tnl‘&"'T ‘@ 3{'&")[ H‘@iﬂ %‘Tvﬁ

(D) 11.11%

is a perfect square ? for wh qof et 2
(A 9704 (A) 9704
(B) 9801 (B) 9801
(©) 9901 (€ 9901
(D) 9999 (D) 9999

SPACE FOR ROUGH WORK / TF &rd & ot wmg
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129. T ST 11 99 & f7018% <ehellG =TS
F T Y IR o T TS = A R
anfanfifer €9 W, S T 324 9§ ST ©
THR & T Wi e ot ?

129. A principal amount is lent for 1 year at
18% compound interest. The interest gets
increased by T 324, as the rate of

——eompoundinterestis half yearly Find the

Principal amount.

(A) ¥ 32,000 (A) T 32,000

(B) ¥ 36,000 (B) T 36,000
(C) ¥ 40,000 (C) T 40,000
(D) ¥ 72,000 (D) ¥ 72,000
130. The sum of three consecutive odd 130. T SHATT el = A g = 9
numbers is always divisible by which of faufora e |
the given choices ? ' '
(A) 3 (A(p
(B) 9 ‘B,
(€ 15 )y 15
(D) 21 O D) 21

i -1 1 1 1 1
— 1313111 =+111-+111—+111—+ 111—_
e 13141 St 5 55 &I

131. Out of the given choices wha 0

L 2
value of 111—;'4‘111‘1"'%*111‘2%““ oH = H @ wE g ?
111515 ? &
(A) 111-2- (A) 111%
® 11 ® 1
© 555;2~ © 555%
(D) 555% (D) 555%

Set - A
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132. If 20% of cost price of an item equals 30%
of selling price, then what will be the loss
percentage ?

132. A 3 Y= & 20% Tasma T & 30% &
SRR 2, < B Wi s g ?

(A) 33.33% (A) 33.33%
(B) 50% (B) 50%
(C) 20% (©) 20%
(D) 25% (D) 25%
133. The diagonals of a rhombus are 24 cm and 133. fodt gaers fasul &1 ofarg

10 cm. The perimeter of the rhombus is :

(A) 68 cm
(B) 60 cm

(©) 52cm

L 4

24 9.9 1 el 39 =g =% it

2
(A “Q&
@ Rk

(C) 52 &,

~ (D)_50cm_ OQ (D) —50-8.7.- N

&

134. A rectangular tank can kNgtres of
water. How many litres 0 ter can a

tank with all its dimensions double that
of first can hold ?

(A) 2k litres
(B) 8k litres
(C) 4k litres

(D) 6k litres

134. T SAAAIHR k! i YT B &HAT k el
T afE Tt 1Y R @ T o & 9 A
Tk &THAT fohae wilet I &t &1 s ?

(A) 2k X
(B) 8k ot
(C) 4k @
(D) 6k ot

SPACE FOR ROUGH WORK / T &Td & o sig
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135.

Which of the given relations is correct ?

O N7+3 > B+/5

135, FrAH AP W dsy vl 82

@  J7+3 > B+

136.

137.

@M V5+45 > V2+/8

) 5+5 > V7+3
(A) only (I)

(B) only (II) and (III)
(C) only (I) and (III)
(D) Al (1), (IT), (IIL)

The L.C.M. of numbers 2.5, 0.5 and 0.175
will be :

)

@M VB5+V5 > V2+8

@) V5+5 > 7+3
(A) Fad (I)

(B) W (II) e (I1)
(C) e (T) T (1)

(D) mﬁ&\(n), (1)
gpaan 0.175 1 TYTH WG

(A) 125 (A) 125
(B) 2.5 (B) 25
(C) 17.5 é C) 175
(D) 5 60 @ 5

The average of&.l mbers, out of
which the largest ber is 16, is 12. If
the smallest number is just half of the

largest one, then find the remaining

number.
(A) 12
(B) 8
(C) 14
(D) 10

137. &7 densii w1 {5 98 9 @ 16

w12 %1 fE orgw wem o Wem @t
aneft 3 < Siw He A ?

(a) 12
(B) 8
(C) 14
(D) 10

SPACE FOR ROUGH WORK / T® & & fad e
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138. How many two digit numbers are there ~ 138. 3 il I fhal Heod &, S 3 9 fave &

that are divisible by 3 but not divisible by W 7 9§ T8 ?
77?

——— {33 (A) 13
(B) 26 (B) 26
(© 30 (© 30
(D) 47 (D) 47

139. A man travels half of his Journey by train ~ 139. U el ST I T ST 9FT YerMe! &

with speed 60 km/hr and half of the 60 fohtil/=ieT =it =1et 9, 99 T ST qT =Y
remaining part with bus with speed Q30 fort/ sl ] & S AT WRIfehe
30 km/hr and remaining part with a 9 10 foreit/ QT F@ R FA
cycle with speed 10 km/hr. Then find RIEID sirea =ret = off ?
his average speed during the whole .
Journey. \ *
(A) 30 km/hr forelt/ it
(B) 24 km/hr 24 forHt/ser
(C) 36 km/hr 36 Tt/ ar

— (D) —28-km/hr- "

)
60— (D) 28 feHEi/Ea

140. Th %R FTeTsh 59 g § it 9 9 w9
fem ¥ 3 fordt/sa = o @ v =t

faot
peed of

140. A car driver crosses a man
in the same direction w

3 km/hr in dense fog. The moving man
watches the car for 6 minutes, till the car
covers a distance of 0.6 km. What will be
the speed of the car ?

(A) 9 km/hr

(B) 12 km/hr
(C) 20 km/hr
(D) 24 km/hr

W OR &1 UgenmHt st 39 wR
6 THe 9% <@ €, 59 999 9% 98 $R
0.6 forrt. 30 7@ & A & A R A =S
F B ?

(A) 9 fordi/Ha1
(B) 12 fersi/ser
(C) 20 ferwt/sar
(D) 24 fepHt/sier

SPACE FOR ROUGH WORK / T®% & & o8 s re
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Part - V/HTT - V 145. ‘g’ U A W AT 2
General Hindi/@mr=a f&<t (A) Hfem
(By—gfe
141. Wmﬁéaji;m% © e
) . (D) T ¥ E Tl
(B) T ¥ T W YIH B §
(C) T & Wy JoH o1 § R PR
. . 146. fr=fafea v ¥ =R 9 iRu @ € 3=
(D) w3 T2 I 1 = HIWC
(A) ST T |
142. TFHS AT
(B) 3151 R |
(A) TH 379 G E
B i . (Q) TN ST & |
(C) TETEIR Q\Iﬁ) T TEN T 7
(D) T & Q)
é 147. “g=re wifamE
143, T T ¥ § (8) W+
(A) T * (B) T+
() e @ (C) w+=fA
(C) STYsitdl . ,
D) T 9 ®E T
(D) =T § HE T ®
144, ‘g oo § TR AR A e . L o 1 foret v &

(A) <igE
(B) I =l
(C) <t fagam
(D) B Teld

(A) o=
B) e

(
(C) ==
(

(D) ot

SPACE FOR ROUGH WORK / 7% & & fed s7Tg
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149, ‘‘fauea” § SR @ g §? 153. &E ¥ fF Se R §2

(A) =5 (A) =R
(B) = (B) dH
) fai ©
(D) T HE (D) ¥ 9 &K 7
150. forerf wfy frd wea €2 154. AT S Y e ST &2
(A) Tt wd foret % w9y (A) TS =l & S=RY @ g@ A @
frepert &
(B) R fawrf & Fa # .
(B) fm I CIIEICa]
(C) ®RATTTA & A 9 ) R arar &
(D) ¥ 9 T © ¥ =R § T fom @
o H
L 2
151, frfefad wea & o) o g # | @ (@‘Wﬁéﬁ
 a Ifeqdl ¥ IfRfea o @ T
T i % e ©9 ¥ o g0 T T
(A) WSF A ASH F @ Q 1 IT et SH P G HeT HEd B ?
B TImem W@, O (A) R T
© v e = e @ (®) sr

D) mamm,& ©

(D) T J = T

152. 39 U8 i favivar 9 9t THE $) F

FEA S 7

(A) FHYRT
(B) srHivE
(©) dgsife
(D) ¥ &+

156. Wom vg fpu wue & Hermar g ¥ ?
(A) f&1
(B) &%
(C) FHYRT
REl (D) T 9+ &

1280/NE-JT/RCE-M
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157.

‘o1 Tl STel STy Y@’ TAehIfeR T 379 |
(A) wE w1 g e w5
(B)  =HIN T A I STAEL TARH

161. ‘‘oraua’’ i fourg o Gy 1 YR SaEd

(A) T HY
(B) _ferei wifer

158.

159.

160.

(C) TRt fer W& Al
(D) HreRT St ST TR % T o §

‘IS T SR HEER w1 wEl Ad
T :

(A) T B &l

(B) HET qd ol I
(C) TR B
(D) TEYE S H9el Tl

‘e T Tt e R

(A) fagya

(B). &EA

€ =g * O
(D) = @

‘Qd @I e, IR @Y e’ el i
aﬁ%:

(A) T STqUEt B B e gEd W ot STl
T §

(B) 3Tt &I g8 foer

(C) oo X i, < firey feorelt iR
(D) o s1au o =afem a1 g foer

(
o
163. @ R Fa ¥ ?

s
&

(C) =& diy
(D) T § HE T

. v wt H fag g foened # @ fodeh

TS T T DI :
(A)
(B)

<

(A R R R
(B) TR TH =S FUIl o HeA
(C) s uE ot =1 ae

(D) T 9 ®E T

164. “ST2-HE 1 YT 4 TEE o 31 ©

(A) gT TR B

(B)  SIgq AT KT

(C) e @i | frer
(D) T 7T T § aRfed g

SPACE FOR ROUGH WORK / T% &Td & for&t sre
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165. I8 TSH R E BT A Gq 2
(A) ShfdeTas
(B) =AfFreTa®

169. Frerfefed o # 9R o few T 5w
e a1 AT TG BT

(A) R wW A ergfaen T& 2nf

By hil TH | STgfeen 7a] ani |

(€)—TeeTTs
(D) = 9 HE T

IR o T feu e SR freed ¥ ©
ST TET G
(A) o s &1 % e R A

(B) fordt ot ag =1 TR YR wH
et

(C) T& WA W fema 7 @ aren
(D) 3¥R-3 fieesd A o

166.

YIFT 1 JTET v §
(A) HYHT

(B)_ TR _

© feam

(D) T

167.

\\\@\

frefefed o7 & 9R fomrew fou o € w99
e 9 1 H9E I

(A) oIS THaR =1 faT &1
(B) TS MoraR & fem1 €1
(C) o1 gar &)

(D) T oam f&7 §)

168.

é(A) forfe

(C) 1 =M H srgfaer 78 arit |
(D) ot =6 F srgfaen =& €nfti

AT Y wed €7
(A) < avil & e
(B) A H
© =&

(D).

170.

&
EE

fq?fhnw%

(B). _fompstur

(D) faee=

172, el = ==E Rk @ o1 =R fawey
Y T T T TR S H T FT -

(A) & EIE H e
(B)
(©) S He H oy e 3
(D) ST ST HE

T W HAT

SPACE FOR ROUGH WORK / T% &4 & & w18
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‘o @ I R PR e o’ A
ferq ws wree Y

173.

177. = v&® o # few Ty fawedl # € @
T I BT

(A) WHEEH (A) HURE
(B) wANH () Al
(C) el € T
(D) JIH (D) =@
174, TR yEE T Y Rr A F A W w178, A yow o § Ry T feedl § ¥
T B ¢ T 1 I HI ¢
(A) fweEm (A) &
(B) (B)
(© ifes . (
(D) wfen Q\D& S
175. foes =t Ofd B FFaA 872 éolm. ST 1 Y5 § TR ?
(A) el \Q (A) AT
(B) ot ¢ O (B) wamI
© = %) © s
(D) T & 3 \Q (D) T & ®E T
176. a areen fasmo fored 72 180. *SfTl’ =1 agaEA FNE?
(A) FRARE (A)  sAfeeie
(B) FoARATE (B) iy
(C) |HEMW@E () et
(D) T q P T (D) T A HE
SPACE FOR ROUGH WORK / T &4 & ot s
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181. “The packet has not been opened by

Part - VI/H9IT - VI

General English /9T 3{3<it

182.

183.

anyone’.

Choose the
transformation of the above sentence into
Active.

most  appropriate

(A) Anyone has not opened the packet.
(B) No one has opened the packet.

(C) No one has not opened the packet.
(D) No one has been opening the

packet.

‘He is making a film.’

Choose the correct transformation of the
above sentence into Passive.

(A) A film is made by him.
(B) A film had being made by him.
(C) A film is being made by hin?,
(D) A film has being made b

Choose the sentence in wﬁincorrect
form of Pronoun is used.

(A) The presents are for you and me.

(B) My uncle asked my brother and me
to dinner.

(©) Nobody will help you but 1.

(D) Rama or Hari must lend his hand.

184. Choose one word substitute for :

‘A writing that cannot be read.’

185.

186.

187.

(A) Legible

(B) Tllegible
(C) Impalpable
(D) Ineligible

Choose the word with incorrect spelling
(according to British English).
(A) Convenience

Skilful

(B)
(C) Fulfil @
(D) Secré)o

‘Ke ‘%e gate closed.’
e correct transformation of the
e sentence into Indirect Narration.
A) He told them that they were to
keep the gate closed. _

(B) He told them they must keep the
gate closed.

(C) He told them to keep the gate
closed.

(D) Al are correct.

Choose the incorrect pair :

(A) gymnasium - gymnasia

(B) phenomenon - phenomena
(C) memorandum - memoranda
(D) formula - formulae

SPACE FOR ROUGH WORK / 1% &1 & fo sie
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188. He said, “Will you listen to such a man ?” 191. ‘People say that he is miser.’
Choose the incorrect transformation of Choose the incorrect Passive
the above sentence into Indirect Narration transformation of the above sentence.
(Speech). (Choose the most appropriate alternative
(A) Heasked them whether they would from ‘the alternatives given below)
listen to such a man. (A) Itis said that he is miser.
(B) Would they, he asked, listen to such (B) He is said to be miser.
aman ? (C) People said him to be miser.
(C) He asked them whether you would (D) Al are incorrect.
listen to such a man.
(D) None of the above. 192. Choose incorrect pair :
(A) -fgjend - boy-friends
189. ‘Whatever God _ , man cannot @n—driver - man-drivers
alter’. travel-agent - travel-agents
Choose the most appropriate verb to f111 (D man-driver - men-drivers
in the blank in the above sentence.
A il
(&) will 193. Choose one word substitute for :
(B) shall Q ’Incapabie' of being selected for a job’.
(C) wills . O (A) Invincible s
(D) None of the abo% (B) Inaudible
| \\'Q (C) Ineligible
190. ‘Do you like coffee? (D) Ilegible
Choose the correct transformation of the
above sentence into Indirect Narration. 194. Choose the incorrect pair :
(A) Askhim whether he does like coffee. (A) gentleman - lady
(B) Ask him did he like coffee. (B) widowor - widow
(C) Ask him whether he likes coffee. (C) bachelor - spinster
(D) None of the above. (D) lord - lady
SPACE FOR ROUGH WORK / T% &1 & fod <
~Set- A
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195. Choose the incorrect pair : 198. ‘Don’t you like coffee ?’

Choose the incorrect transformation of

(A) dancer - danceress
the above sentence into Indirect Narration.

(B) actor - actress (A)_Ask him why he doesr’t 1 e =L
(C) conductor - conductress (B) She asked him why he didn’t like
coffee.

(D) manager - manageress
(C) Ask him whether he liked coffee.

(D) None of the above.

196. Choose the sentence in which correct

form of Pronoun is used. ’ 199. ‘Sita was reading the Gita.’
(A) Thejury were divided in its opinions.

(B) After a few minutes the jury gave
its verdict.

e Gita were being read by Sita.

(C) The army had to suffer terrible .
T . Gita was read by Sita,
privations in their march. y Panl

The Gita was reading Sita.
(D) Neither Abdul nor Karim has done

their lesson. o
B I OQ “Choose’the word with correct spelling

L 4

(B) Benifited

(according to British English)
197. “My brother has broken 1&@ (A) Embarass

In the above sentence the un e word

‘his’ isused as a : (C) Accommodation
(A) Noun (D) Persuation

(B) Adverb ~00o0-

(C) Pronoun

(D) Adjective

SPACE FOR ROUGH WORK / & & % f&d we
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Note : @ .

1.  This Question t eonsists of Parts namely :
Part -1  Genera dies & General Knowledge of State - 1-50
Part - II  General Knowledge of Computer - 51-80
Part - ITI  General Mental Aptitude - 81-110
Part - IV General Mathematics - 111-140
Part -V General Hindi - 141-180
Part - VI  General English - 181-200

Each question carries 1 mark. All 200 questions are compulsory.
2 Indicate your answers on the OMR Answer-Sheet provided.
3 1/4 mark will be deducted for each wrong Answer.
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5

While using OMR Answer-Sheet care should be taken so that the Answer-Sheet does not get
torn or spoiled due to folds and wrinkles.
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